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Questions 1-10
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A solar ecfipse occurs when the Moon moves in front of the Sun and hides at least some part of

the Sun from the earth. In a partial eclipse, the Moon covers part of the Sun; in an annular eclipse,
the Moon covers the center of the Sun, leaving a bright ring of light around the Moon; in a total
Line eclipse, the Sun is completely covered by the Moon. i v L F. e
(5) It seems rather improbable that a celestial body the size of the Moon could completely block out
the tremendously immense Sun, as happens during a total eclipse, but this is exactly what happens.-= .2 |
Although the Moon is considerably smaller in size than the Sun, the Moon is‘able to)cover the Sun '
)\because of their réléfqi‘i% distances from Earth. A total eclipse can last up to_"i_'iﬁ-i’ﬁutes, during which
" timethe Moon’s shadow moves across Earth at a rate of about .6 kilometers per second. * g
. i iy
1. This passage mainly 5. What is the meaning of “block out” in
line 5?
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(A) describes how long an eclipse will last

(B) gives facts about the Moon (A) Square

(C) explains how the Sun is able to - @ Cover
obscure the Moon (/ (C) Evaporate

b informs the reader about solar (D) Shrink
f; ‘,wvvié ~ eclipses
ey 6. According to the passage, how can the
S 2. In which type of eclipse is the Sun Moon hide the Sun during a total eclipse?
e A B
obserRd N Mttty The fact that the Moon is closer to
(A) A partial eclipse Earth than the Sun makes up for
(B) An annular eclipse the Moon’s smaller size.
@ A total eclipse (B) The Moon can only obscure the Sun
(D) A celestial eclipse because of the Moon'’s great
o\ distance from the earth.
3. The word “ring” in line 3 could best be (C) Because the Sun is relatively close to
replaced by Earth, the Sun can be eclipsed by
: S the Moon.
(A PIECE Of‘.gf’ld }ﬁ;‘*o 2 (D) The Moon hides the Sun because of
/ < f:]rcle 2 the Moon’s considerable size.
C) jewel
(D) bell
&€ 4. A“estial body” in line 5 is most
()’l(j) — probably one that is found

:A; within the Moon’s shadow
(B)/ somewhere in the sky —= ,\/
C) on the surface of the Sun \ . e
(D) inside Earth’s atmosphere - )
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7. The word * relatmg in hne 8 could best be 9. The word “rate” in line 9 is closest in
replaced by meaning to
(A) familial s / L’J/ﬁ _form .!“‘}
infinite  © . speed
,,./ comparatlve distance
) paternal (D) rotation
8. The passage states that which of the 10. Where in the passage does the author
following happens during an eclipse? mention the rate of a total eclipse?
(A) The Moon hides from the Sun. (A) Lines 1-2
(B).. The Moon is obscured by the Sun. (B) Lines2-4
L(C) | The Moon begins moving at a speed (C), Lines 5-6
of .6 kilometers per second. Lines 8-9
. The Moon's shadow crosses Earth.
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Questions 11-20 e d
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While the bald eagle {s one national symbol of the United Statés, It s not the onl

Bain, & beurded gentleman costumed In the red, white, and hlue stles and stelpos of ﬂ-; :E:f:ﬂ%:m
18 anathar woll-known natlonal symbal, Accofding te legend, this charscter Is based on Samuel
. Wilsan, the owner of n meat- business in’ . vh. During the Waraf 1812, Sam~ =~
Wilson's company was granted a governmant conffact to supply ment 1o the nation'’s soldiers; this
maoat was supplied to the army in barrels stnmped with the | {thals U5, which stood for United
Staten: Howeveythe country was at that tima rllltll‘ml_\' yaurg. and the Initials 705, were nat 5
commonly used, Many people guestioned what the Inltlals mpmnihliiﬂ;]hnd tha standard reply
bocame “Uncle Sam,” for tho owner of the barrels. 1t is now generally accepred that the Hgure of
Unele Sam is based an Samuel Wilson, und the U5, Congregs has mnh{%h offiial by adopting a
resolution naming Samiel Wilion na the inspiration for Unele Sam. -

| .\ =
11. The paragraph preceding this passage 16, The word “granted® in line 5
AT pmﬁlbl.y Ellcunm e ity - W : S,
i {A) refused
A%T the War of 1812 {B) underbid for
__J the bald sagle, which svinbalizes the told absitd

e Unilted Staten (ﬁ glven
(ﬂ% Sam Wilson's meat-packing company i

{1)J tha costuma worn IJ_;.' Uncle Sam 17, According to the passagn, what was in the

barrols stamped U.8.7

12, Which of the [ollowing 1s the mest

approprinta tlile for this passage? (A} Sam Wilson

y 1

s d Paod for th
y :"9 Eﬁg ‘ﬂ:ugl'd&rlhf he Unitod ﬂ'r# C‘C) ““"‘:;'ll"l=l ﬂﬂl; *-ﬂ‘;:ﬁml!};d in the witr,
e Symbols of the Unlted States o e
t_/-‘ () Samuel Wilson L TR g
ks ticle Sam—Symbol of the Nation 18, The word "initials” In line 6 means
" 13, Which of the fallowing § NOT hentioned (A) nicknames ¢
% nbout Unele Sam’s lppmpngﬁ}l i (B} family names .
¢ ik =~ {C)Airat lotters of words
li'.l‘ 1ol {A) He wears fncial hair, P‘f. (D) ocompany names
s EEJ.} thirn l:ll.:lnnm blug in hia clothing, .
< Ha is bald, 19, The word ™ 4 iR
. %D% Hl',ﬂ:' thes have stripos in them, manning mﬂl‘!'lﬂ-ii.l,, 0 L TNg Mowamt 5
14, The word "costumad” in line 2 could moat (A) autharized -+ ot = gl
easlly be replaced by AH)  profossional LS T TR
fabe Y ) dutibul ., el
resse A ) Ida - L, -
M’/ 5%} nathonalized W i i 1o e
(€)' hideen 20, In 1812, people mast probably answered
{Dg seer that the lottnaﬂ 115" wrltten on the
Iy Is i i
B B Uk D AL arrels atoed for “Uncle Sam” becauso
type of bualness? {A) Congross required {4
e (B) Samual Wilsen was thelr faverite
A} A contumo company u
\.?:\J' i A meat-packing company €] Sam wil di
('r‘_// ) A military clothier &lﬂ;m r:n:nmﬁ::]? g J:: e
() A barrel-making compiny letters meant
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Questions 21-31

Most people think of deserts as dry, flat areas wi

3/_\.3,&3/_\.3\

th little vegetation and little or no rainfall, but

thix 18 hardly true. Many deseris hive varled geographical formations ranging from softrrolling hilla

Lina

{5)
and deserts aro often full of such plant life.

to stark, jngged liffs, and most deserts have u permanent source of wntni‘_lﬂmou?l]‘u“)iumm do not
recelve n high amount of rainfall—to be clansilled ns o deserl, AN Aroa mus
centimaters of ralnfall per yanr—1hare aro many plants that thrive on only small amounts of waler,

et Tons than twenty-fve,

Desort planis have a varloty of mechanisms l‘ur abtaining the water a‘é&m for survival, Someo

¢ plants, such as cactus, are ahle to store lurge amount

s of water in thelr leaves or stems] aftor o rainfall

theso plants absorb & large supply of water to last until the next rainfall, Other plants, such as the

{10
desert's arld surface,

21, What is the main toplc of the passage?
{A) Denarts are dry, flat areas with Few
laiits,
(1) There is lttle rainfall n the dexort,
(C) Many kinds of vegatation can survive
- with little water
@Dumn are not really fat arens with
litle plant life.

22, ‘The passage Implies that
'[_-'[Mj..l:m typleal eonception of a desert la
2 incarrect
(1) all desarts aro dry, flat aroas
(C) most peaple are wall Informad about
denerts
(1) the lack of ralnfall in deserts causes
the lnck of vagetation

23, The passage deseribes the geography of
dannrts ns
(AY flat
snndy
AC) varled
& ) vold of vogotation

-

24, Theword "mource” in line 3 means
i supply
__.-"J"'I‘-'l {a"\) ptarage Spaco
o (C) need
(D) lack

a8, Aceording to the pussage, what ciuses an
aren to bo classilled s a desert?

{A) The type of plants
The geographlcal fermations

i
/E’q} 2 The amount of precipltation
(D) The seuree of water e
26, ‘The word "thrive” 1n line § means

(A) suller
 grow well
minimally survive
1) deciy
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manguits, have extrnordinarily doop root systoms that allow theim to obitain water from far below the

27. ‘The word *mechanlsms” In line 7 could
maont ensily bo replaced by
(A) machings
{(B) pumps
) mources
éﬂ_)_'_} methods
38, Which of the following is mentioned in the
prssnge ihout cacti?
A} They have deep root systams,
((B)) They retain water from one ralnfall to
= the next,
{€)  They survive in the dosert because
they do not nead water,

(1) They get water from deep below tha
surface of tha dosart,

29, “Mosquite” In line 10 is probably

dAY o :rpu of troo

(B) & dosort animal

() ntype of cactus

(D) a geographical formation in the desert

30, The word "arid” in line 11 means
Q.,.-L'ﬂ

() sandy
(1) superficial

31, Where in the passage does the authar
describa desert vegetation that keops water
In s lenves?
(A} Lines 1=3
Lines 3-&
Linas 7-9

B)
__.-'-r"'H C%I?))Lhmi-nu
a1
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